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Course Title: French Language and Civilization I Max. Marks: 100
Qn. Section — A [20 x 1 = 20] K-
No. Answe'r ALL the Questions - coe) Level
I.  Roberto Blanco est__ . _ Cco2 KlI
[a] acteur [b] comédien [c] chanteur [d] enseignant
2. Roberto Blanco est . CO2 K2
[a] frangais [b] espagnol [c] italien [d] indien
3. Mariest . co2 Kl
[a] frangaise [b] espagnole [c] italienne [d] indienne
4. est marchand. , Cco2 K2
\ [a] Inés [b] Maria [c] italien [d] indien
5. Marie Dominique a___ans. 1l Cco2 Kl
[a] 30 [b]31 [c] 34 [d] 32
6. Marie habitea | | co2 K2
, [a] Dijon [b] Paris [c]Lyon . [d] Bordeaux
7. ___n’apas d’enfants. ‘ : it : 5. ‘ . CO2 K1
'[a] Le Directeur  [b] Mathieu [c] Dominique ~ [d] Paul |
8. voudrait bien faire du VTT - COo2 K2
[a] Paul [b] Mathieu [c] Dominique _[d] un collgue
9. __estle jeudinoir de wall street | : CO2 Kl
[a] 25 décembre Ea [b] 23 octobre
[c] 12 octobre [d] 24 octobre
10. __ estenretard. CcO2 K2
[a] Le Directeur  [b] Patrick [c] un collegue [d] Paul
11. Le spectacle commence & heures et demie. _ CO2 - Kl
[a] 12 [b] 11 [c] 14 [d] 13



12 ——___estQ Tahiti. e =
la] Nicolas [b] Maria [c] Julie [d] Patrick
B _ _ fait un film publicitaire, , coz i
[a] Nicolas |b] Julie [¢] Marie [d] Patrick
14, Julie arive s y CO2 K2
[a] Lundi [b] Jeudi [c] Mardi [d] Dimanche
IS Charlotte dois jouer g [ co2 Kl
[a] Lyon [b] Bordeaux [c] Dijon [d] Paris
16. C'est a combien La rue Lepois ? co2 K2
[a] 10 minutes  [b] 5 minutes [c] 7 minutes [d] 15 minutes
I7. Nancy centre Belle chambre est _____ par mois. COo2 K1
[a] 520 € [b] 250€ ° [c] 25 € [d] 200 € |
18.  Le matin, ___ regarde la présentation de Technirﬁage; Co2 .K2 |
[a] Ines [b] Maria [c] Arnaud [d] Le directeur :
19, aperdule fichier Monte-Cristo ! Coz K1
[a] Inés [b] Stéphanie ~ *  [c] Arnaud [d] un collegue
20. _ déteste les réveils. i by , 0O K2
[a]‘ Samia [b] Caroline [c] La vendeuse  [d] Julien
Qn. _ Section - B : [Bx6=30] COG) K-
No. Answer ALL the Questions , Level
2l.a) Complétez avec « je », « tu », etc. . . - COl1 .- K2
Bonjour ! ___ m’appelle Catherine. Voici Patric i, estitalienneet
John, __ estanglais.
- Etvous, étes francaise ?
- Oui,___ suis francaise.
- Bt ¢
[OR]
21b) Présentez vous. | ‘ Co1 - K2
22.a) Reliez le verbe et Pactivité : : CO2 K3
Danser - la lecture
Ecrire - la marche
Lire - lanatation
Marcher - I'écriture
Nager - le travail
Travailler - la danse



[OR]

22.b) Compltez avec un article ou une préposition : C0o2 K3
= Tufais __ tennis ?
= Non, je n’aime pas ___tennis. J¢ préfére faire ____ marche. J’adore
promenade dans la montagne.
= Moi, j'aime beaucoup ___ sport :c’est ___judo.
23.) Mathieu est en vacances a'la montagne. Une amie téléphone. €03 Kl
* Alors, ily a dusoleil & Saint-André ?
- Non,
* Tu fais des promenades en montagnes ?
- Non, - <
* Tu fais des rencontres ?
- Non,
® Tuaimes Saint-André?
- Non,
. o Tu fais du ski?
- Non,
o Tuviens aujourd’hui?
- Non,
[OR]
23.b) Compktez avec « ce », « cet », « cette », « ces » : : COo3 Kl
Le touriste curieux,
- Comment s’appelle ____ rue ?_ ,
- De quand datent ___'maisons ?
- Qu’est-ce qu’il yadans  musée ?
- Ouva__ rue?
- Quelestlenomde __ hotel ?
- Combien de batiments c&lbres y a-t-ildans ___ quartier ?
24.a) Faites la description de votre logement idéal. X ' Co4 K2
. OR] : ‘
24.b) On donne des conseils sportifs. Utilisez I impératif : CO4 K2

- Ne pas se coucher tard.

- Bien dormir.



Ne pas se levertét.

Prendre un bon petit déjeuner.

Faire un jogging.

Se reposer.

25.a) Compktez les réponses ou les questions. Utilisez « que lqu’un / personne »,

« quelque chose / rien » :

Dans une soirée.

25.b)

Qn. A
No.

Tu connais quelqu’un ici ?
Non,
Tu attends ?

Non, je n’attends personne.

Tu veux prendre quelque chose au, bar ?

Non,

Tu veux parler a ?

Non, je ne veux parler a personne.

Tu cherches quelque chose ?

Non,
Alors, qu’est-ce que tu fais ici ?

[OR]

Transformez en utilisant un adjectif possessif.
Ex: ce stylo es't 4 Tristan=> ¢’est son stylo.
Ces jeux-vidéo sont & Pierre>

Ce portable est & nous >

C’est le manteau de Barbara. >

Ces cartes postales sont & vous =

Ces livres sont aux enfants. =

Cet ordinateur est au prof. =

Section - C
Answer ALL the Questions

26.a) La négation. Complétez le dialogue.

Vous comprenez ?
Non, je ‘

Vous parlez anglais ? 2

[5 x 10 = 50]

CO5

CO5

K2

Kl



Non,

Et madame, elle parle anglais ?
Non,

Vous étes italien ?

Non, italien. Je suis portugais.
Ft vous compre nez |'espagnol ?

Oui, __

[OR]

26.b) Construisez comme dans I'exemple :

EX : un chanteur italien — une chanteuse italienne

Un ami étranger -

un artiste grec -
un comédien célébre -
un musicien allemand -

un médecin russe - ;

27.a) Compktez :

27.b
28.a)
28.b)

29.a).

-

Vous connaissez le nom professeur ___ franais ?

Oui, il s’appelle Olivier Brun. I1parle de Victor Hugo, - écrivain

frangais, _auteur ____ Notre Dame de Paris.
Notre Dame de Paris, c’est aussi____ Cathédrale ?
Ouj,c’est ____cathédrale de Paris. C’est _____ monument célebre.
Vous connaissez_____ musées de Paris ?
Je connais ____ musée du Louvre.
[OR]

Vous étes en vacances. Dans une courte carte postale vous racontez ce que

vous faites.

Présentez votre ville ou votre village.

[OR]

Vous étes 4 Sydney et vous rentrez chez vous 8 Lyon. Ecrivez un message a

votre ami(e) pour annoncer votre retour.

Julie et Patrick vous invite pour Panniversaire. Vous écrivez une lettre et

acceptez I’ invitation.

[OR]

COl

607

CO2

COo3

CO3

Co4

Kl
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K3

K2

K2

KI -



29.5)  Trouvez ks deux autres formes de question :

* M. Jourdan (4 Patrick) :

= Vous aimez le Maroc ? < Aimez-vous le Maroc ?

= Voulez-vous jouer le réle d’un policier ?

* M. Jourdan (au directeur). E

- Patrick Marin est un bon comédien ?

- Ilaqueléige ?

- Ilest marié ?

- Vous parlez frangais ?
30.a) Vous étes guide de la ville de Paris. Présentez la place de la concorde.
[OR]

30.b) Mettez les verbes entre les parenthéses au passé composé. Attention :

«avoir » ou « étre » + participe passé : -

Chers amis,

Enfin nous sommes en Turquie. Quel beau pays ! Nous __ (arriver) a
Istanbul lé 25.Nous _~ (visiter) la ville. Puis nous (louer) une
voiture et nous ____ (partir) vers le Sud. Nous ___ (aller) jusqu’a Ephése.
C’est magnifique ! Hier nous ___ (se promener) dans la ville antique et
nous ____ (voir) le c€lebre temple. Ce matin Alain___ (se lever) 4 7
heures pour voir les monuments au lever du soleil.

Moi, je (rester)a lhoteletj __ (écrire) des cartes postales.

CO4

CO5

COs

K2

K2

K1
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Section — A e [20 x 1 =20] -
Answér ALL the Questions oR Level
Systems deal with day-to-day operations of an organization,such as CO1 K1
assigning employees to take and recording the number of hours they work ,or . .
placing a purchase order.
[a] Operational [b] Tactical [c] Strategic ~ [¢] Managerial
systems deal with middle management activities such as short term CO1 K1
planning, organizing and control.
[a] operational [b] expert ‘ [c] strategic [d] managerial
provide stored knowledge of experts to non-experts, so the latte;' can COl K1
solve difficult problems. | z
[a] Data base System [b] Expert Systems
' [¢] Information System [d] Intelligent Sysfcm
is data that that has been organized so that it has meanin‘g, and value COl Kl
to the recipient.
[a] Management Information System
[b] Decision support system
[c] Informa.tion System
[d] Knowledge System ,
What is the intersection of a column and a row on a worksheet called?” " C02 KI
[a] Column [b] Value [c] Address [d] Cell
What type of chart is useful for comparing values over categories? CO2 Kl

[a] Pie Chart [bj Column Chart  [c] Line Chart [d] Dot Graph



10.

11.

12.

13.

14.

15.

16.

Statistical calculations and preparation of tables and graphs can be done co2
using -
[a] Adobe Photoshop [b] Excel
[c] Notepad [c] Power Point
What type of chart is useful for showing trends or changes over time? co2
[a] Pie Chart [b] Column Chart [c] Line Chart [d] Dot Graph
refers to the process of performing specific operations on a set of CO3

data or a database. .
(a] Data base [b] File management systems
[c] Data processing [d] Microsoft Access
A__ isacollection of related data organized in a structured manner CO3
[a] Data base [b] File management system
[c] Data Processing : [d] Microsoft Access

__means that different files contaﬁ different information of a particular ~ CO3
object (or) Person.
[a] Data Redundancy [b] Data Inconsistency
[c] Data Isolation [d] Data sharing
The Relational data modeling, organises the data and relations between them CO3
in the form of
[a] Table [b] Data base [c] Attributes [d] Primary key

COo3

One of the best examples of C2C-e-commerce business model is

[a] Amazon [b] epay
[c] Priceline [d] Make my trip
business is originated by the business and selling it to the business  CO4

[a] B2C [b] B2B [c] C2C [d] C2B

Which of the following is a software application that acts as a filter betweena CO4
company’s Private network and the Internet?

[a] Fire wall _ [b] Virtual private network

[c] Proxy server [d] Router

A Denial of service attack can compromise a website’s __. -~ CO4
[a] Integrity [b] Authenticity

[c] Availability [d] Confidentiality

K2

K2

K2

K1

K1

K2

Kl

K1

K1




17

18.

19.

20.

2].a)

21.b)
22.2)

22.b)
" 23.a)

23.b)
24.a)

24.b)

The most important benefit of implementing a packaged ERP like SA P,oracle

is

[a] Automation of business process
[b] Integration of business process
[c] Standardisation of business process

[d] Adoption of Industry best practices

Which of the following is not the correct conversion strategy?
[a] Phased [b] Big-Bang
[c] Vanilla . [d] BSP

Which of the following involves understanding the customer activities that
were occurred in the front office using technological tools?

[a] Operational CRM | _ [b] supply chain management

[c] Analytical CRM . ['d] Enterprise portal

Which of the following is an Integrated. group of processes to ‘source’,

’make’ and ‘deliver’ products?

[a] Operational CRM [b] Supply Chain management
[c] ERP ] [d] Enterprise pbrtql 0"
Section— B - [5x6=30]
Answer ALL the Questions

Describe briefly about the term Information Technology.
" [OR]
List the need of Orga_niiafion Management.
Illustrate the functions used in Ms Excel.
| [OR]
Make an Ms Excel IF Statement Functions.
Explain the data processing activities.
[OR]
Illustrate the components of DBMS
Choose the best Features of E-Business with an example.
[OR] T

State the Characteristics of E- Business and advantages briefly

COs5

CO5

‘CO5

CO5

CO(s)

CO1

COl
co2

CO2
CO3

- CO3

CO4

CO4

Kl

- Kl

K1

K1

K-
Level
K1

K1

K3

K3
K2 -

K2
K1

K1



25.a) Enumerate components of ERP. COS_ B

[OR]
25.b) Describe the best characteristic of ERP. - ‘ CO5 K1
Sect?on -C [5 x 10=50] Cow) K-
Answer ALL the Questions Level -
26.a) Explain the Essential Features of Organization Management. COl K2
[OR] |
26.b) Classify the Components of Infonnétiqn Technology. col K2
27.a) I.d.entify the types of Chart. Ccoz K3
[OR]
_ 27.b) Illustrate tile sorting and filtering functions in Information Technology. cOo2 K3
28.a) Explain the format of Creating Reports. ' co3. K3
i [OR]
28.b) Write the difference between a bound and an unbound form? Cco3 K3
29.a) Illustrate the Security ‘issues in E- Business. : 0 co4 K2
[OR]
29.b) Classify the models in E- Business. CO4 K2
.30.a) Explain the Advantage and Disadvantage of ERP in detail. CO5 K2
_ P, | [OR]
30.b) Interpret Business Intelligence and Illustrate the Techniques used by sk w5

Business.
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Course Title: Principles of Accounting Max. Marks: 100
Qn. Section — A : [20 x 1 =20] K-
No. Answer ALL tile Questions e Level
I.  The rule for personal account is Col K1
[a] debit the giver credit the receiver
[b] debit the receiver credit the giver
[c] debit the income credit the giver
' [d] debit the receiver credit the losses
2. Goods taken for personal use of owner should be debitegi to ; CO1 K2
[a] Drawings a/c ; . [b] Proprietor’s a/c :
[c] Purchase a/c . [d] Personal a/c
3. The main purpose of preparing trial balance is to know the > COol Kl
[a] true position of the business ' A
[c] financial pos ition of the business |
[c] arithmeticgl accuracy of business transaction
[d] profit of the business _
4, | Cash receipts and cash payments are recorded. in CO1 K2
[a] sales book ' [b] cash book
[c] journal proper [d] petty cash book -
5.  Bank reconciliation statement is a : , coz - Kl
[2] ledger account " [b] part of the cash book
[c] a separate statement ~ [d] a subdivision of the journal
6.  When pass book shows a debit balance, it means it is a . COo2 K2
[2] credit balance as per pass book [b] OD as per Pass book

[c] credit balance as per cash book [d] none of these

2 ]



A cheque received and paid into the bank on the same day is recorded in
the

[a] cash column of the cash book
[b] bank column of the cash book
[c] both the cash and bank column of the book
[d] none of the above '
8. Bank balance as per cash book and passbook must show the
although the nature of the balance will be different.
[a] same amount [b] differerit amount
[c] calculated amount [d] passbook amount -
9. Which one of the followinig satisfies the accounting equation?
[a] Assets + Liabilities = Owners’ Equity |
[b] Owners’ Equity + Liabilities = Assets
[c] Assets =-Owners’ Equity
[d] Liabilities = Owners’ Equity
10.  Gross Profit is found out by preparing

[2] Trading A/C . [b] Profit and Loss A/C.
[c] Balance Sheet [d] BRS :
1. Goodwill is a/an - asset.

[a] fixed ~ [b] fictitious [c] tangible [d] intangible
12.  Salaries and wages will appear in the ! :

[a] debit side of trading account
[b] debit side of profit and loss account
[c] credit side of trading account
[d] credit side of Profit and Loss account
13. Al:ly profit or loss on sale of sinking fund investment is transferred
to ‘ |
[a] asset account [b] profit and lpss account
[c] sinking fund account [d] none of these ’
14. . The main objective of providing depreciation is
[a] to reduce tax burden
[b] to cakulate true profit .
[c] to show true financial position in the balance sheet
[d] to provide funds for replacement of fixed assets

CO2

Co2

CO3

.CO3

CO3

- CO3

Co4

CO4

Kl

K2

Kl

K2

K1

K2

Kl



15. Which one of the following does not require provision of depreciation? CO4 KI

[a] Leased assets [b] Livestock
[c] Loose tools [d] Land
16.  The appropriate method of depreciation to be adopted in the case of livestock CO4 K2
is g
[a] Retirement method [b] Depletioﬁ method
[c] Appraisal method [d] Inventory system
17.  Income and Expenditure account records transactions of : CO5 K1

[a] Revenue nature only [b] Capital nature only
[c] Both capital and revenue nature  [d] Acc;ued items only
18.  Donations received for a special pﬁrpose will be taken to the . COs5 K1
[a] Liability side of the Balance sheet
[b] Asset side of the Balance sheet
[c] Income and expenditure
[d] profit and loss account
19. If salary paid during the year is Rs. 40,000 outstanding at the beginning of the ~ COS5 K3
year is Rs. 5,000 and outstanding at the end of the year is Rs. 3000, then
amount to be debited to Income and Expenditure account is
[a] Rs. 4,000 : [b] Rs. 42,000
[c] Rs. 35,000 [d] Rs. 37,000 '
20, Ifsak price of an old assét'is Rs. 20,000, cost price of ihe asset is Rs. 25,000 CO5 K3
and book value of the same is Rs. 18,000, then there will be '

[a] a revenue profit of Rs. 2,000 [b] Capital loss of Rs. 5,000
[c] Revenue loss of Rs. 2,000 [d] Capital profit of Rs. 7,000
Qn. E Section~B  Bx6=30] o K
No. Answer ALL the Questions ‘ Level
21.a) Journalise the following t;ansactions to the books of Kannan Ccol K1
2016 Jan 5 Purchased goods for cash 1000 |
Jan 9 Purchased stationery for cash - 500
Jan 10 Purchased furniture forcash “ 1,500
Jan 13 Sold goods for cash : 8,000
Jan 15 Salary paid 15,000
. {OR] , : :
21.b) List out the rules of different types of Accounts. ' Ccol Kl



22.a) Prepare a bank reconciliation statement from the following data as on

311.2018.
a) Balance as per cash book 12,500
b) Cheques issued but not presented for payment 900
¢) Cheque deposited in bank but not collected 1,200
d) Bank paid insurance premium ' . 500
e) Direct deposit by a customer 800
f) Interest on investment collected by bank 200
g) Bank charges 100 '

[OR]

22b) Give journal entries to rectify the errors.
I. A sale of Rs. 400 to ABC& Co. was wrongly credited to their account.

2. A purchase of Rs. 134 had been posted to the creditor’s account as

Rs. 120.
3. The total of returns inward book for December had been cast Rs. 200

short.
A cheque for Rs. 400 received from Sandhya had been dishonoured and was

posted to the debit of “Allowance Account”.
23.a) Prepare Trading Account of Meena for the year ending 31.12.2015 from the

following information:

Rs.
Opening Stock - 80,000
Purchases 8,60,000
Freight inward 52,000
Wages 24,000
Sales 14,40,000.
Purchase returns 10,000
Sales returns 3,16,000
Closing stock 1,00,000
Import duty 30,000

[OR]

23.b) What is Balance Sheet and Explain its nature.

‘24.a) A machine was purchased on 1** July 2013 at a cost of Rs.14,000 and

Rs.1,000 was spent on its installation. The depreciation is writter off at 10%

4
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24.b)

25.a)

25.b)

Qn.
No.
26.a)

£t s ever
on the original cost every year. The books are closed on 31 December every

year. The machine was sold for Rs. 9,500 on 31% March 2016. Sh(_)w the

machinery account for all the year.

[OR]
A company acquired a machine on 1.1.2008 at a cost of Rs. 40,000 and spent
Rs. 1,000 on its installation. The firm writes off depreciai\tion at 10% on the
diminishing balance. The books are close
Show the Machinery a/c for 3 years.

During the year 2014, the expenses actually paid were Rs. 3250. Find out the

actual expenses chargeable to Income and Expenditure Account for the year

ended 2014, if prepaid and outstanding are as follows:

Prepaid Expenses on 31.12.1013 Rs.300
Prepaid Expenses on 31. 12.1014 Rs.400
Outstanding expenses a on 31‘.12.201 3 Rs. 450

Rs. 500

Outstanding expenses a on 31.12.201 4
| [OR]

4

1.Subscription as per Receipts and Payments during the year 2014 Rs. 15,960
2. Subscription received in ad{(ance for 2015, during 2014 Rs. 1,500
3. Subscription outstanding on Dec 2013 Rs. = 750
4. Subscription received in advance for 2004, during 2013 Rs. 710

. Rs. 500

5. Subscription outstanding on 31* Dec 2014
Calculate the subscription to be credited to Income and Expenditure

account during 2014.
7 Section - C [5 x10 =50]
Answer ALL the Questions
Record the following transactions in proper subsidiary books.
: Rs.

September 1 Sold to Raman at 10% trade discount 5,000
3 Kesavan sold us goods at 20% trade discount 3,000
4 Sold to Narayanan 1,000
6 Purchased goods from Madhavan i
ata trade discount of 15% 2,000
9 Goods returned by Raman ' : 500
10 Purchased goods from Govindan 1,700
12 Returned goods to Kesavan : 300

d on 31% December of each year.

CO4

CO5

CO5

CO@)

COl

K3

Kl

Kl

Level
K2



14 Sold to Narayanan at 10% trade discount 1,500
I5 Purchases from Desavan (Net value) 1,000

I8 Narayanan returned a part of the goods

sold to him on 14™ Sept. - 300
22 Returned goods to Kesavan
(a part of 5™ Sept. purchases) 100

27 Goods purchased from Madhavan 400

29 Sold to Narayanan (at 10% trade discount) 500

30 Returned goods to Madhavan 40

[OR]
26.b) Prepare Trial Balance from the following as on 3 1.3.2015. COl K2
3 ' -

Cash 370  Land & Buildings 65,900
Opening stock 5700  Rent received 5,000
Debtors \ 3,200  Electricity 6,500
Sales 63,900  Bills Receivable. 1,700
Wages 13,200  Travelling expenses 2,300 ‘
‘Creditors ' : 5200 - Insurance 3,600
Bad debts reserve 400 Puréhases 12,000
Carriage 300  Purchase returns 500
Trademarks 5,300 Discount(Dr.) 300
Advertising " 1250  Bad debts . 700
Salaries ‘" 10,000  Capital 57720

27.a) From the following particulars, ascertain the balance by means of a statement = CO2 K2
that would appear in the pass book of Ramlal and Sons, as on 31* December.
1. Overdraft as per Cash book on 31* De¢ Rs. 10,540
2. Interest on overdraft for six months ending Dec. Rs. 240
3. Interest on investments collected by bank Rs. 300
4. Bank charges for the above period Rs. 60
5. Cheques drawn but not cashed by the customers, prior to December

Rs. 2,500 ‘
6. Cheques paid into the bank, but not cleared before 31% Dec Rs. 4,200
7. A Bill Receivable for Rs. 1,000(discounted with the bank in Nov.) was
dishonoured on 31* December.

[OR]



27.b)
28.a)

Explain various types of Errors. poie

Prepare Trading, Profit and loss a/c and Balance Sheet from the following CO3
Trial Balance of Mr. R. Suresh.

Debit balances Rs. Credit balances Rs.
Sundry Debtors 92,000 | Suresh’s Capital 70,000
Plant and Machinery 20.000 | Purchase returns 2,600
Interest 430 | Sales 2,50,000
Rent, Rates & Insurance 5,600 | Sundry Creditors 600,000
Conveyance 1,320 | Bank overdraft 20,000
Wages 7,000 |
Sales returns 5,400
Purchases 1,50,000
Opening Stock 60,000
Suresh’s Drawings 22,000
Trade expenses ‘ 1,350
Salaries 11,200
Advertising - 840
Discount ' 600
Bad debts _ 800
Busmess Premises 12,000
Furniture 10,000
Cash m hand - 2,060

4,02,600 4,02,600
A'djustments

1. Stock on hand on 31-12-2015 Rs. 90,000 ‘

2. Provide depreciation on premises at 2.5%; Plant and Machinery at ‘
7.5% and fumniture at 10% |

Write off Rs. 800 as further bad debts.

Provide for doubtful debts at 5% on sundry debtofs

Outstanding rent was Rs. 500 and outstanding wages Rs. 400

O S

Prepare insurance Rs..300 and prepaid salaries Rs. 700 .
[OR]



28.b)

The following is the Trial Balance of Mahesh of Madras as on 31" December
2015.

Particulars Rs. Particulars Rs.
Opening Stock 6,200 | Sales 82,920
Buildings 33,000 | Capital 24,000
Furniture 2,000 | Bank Loan 6,000
Purchases 42 400 [ Sundry creditors 9,840
Salaries 4,400 Returns outwards 840
Rent 1,200 | Interest 260
Mpcellancous expenses 1,000 | Divided 220
Postage ' 560
Stationery - o0
Wages 10,400
Freight on purchases 1,120/

Carriage on Sales 1,600
Repair 1,800
Sundry Debtors 12,000
Bad debts 240
Cash i hand 7,600
Returns inwards 2,040
' 1,24,080 1,24,080

The value of stock on 31-12-2015 was estimated Rs.. 5,960. You are

required to make the necessary closing entrles and prepare Trading and Profit
& Loss Account and a Balance Sheet as on 31St December 2015.
A Company whose accounting year is the calendar year, purchased on
1.1.2013, a machine for Rs. 40,000. It purchased further machinery on 1% Oct
2013 for Rs. 20,000 and on 1* July 2014 for Rs. 10,000. On 1.7.2015, % of
the machinery installed on 1.1.2013 became obsolete and was sold for Rs.
6,800.

Show how the machifiery account would appear in the books of the

*company for all the 3 years underDimiﬁishing Balance method. Depreciation

is to be provided at 10% p.a.

CO3

CO4

K3

K2



29.b) | Describe the various Methods of Depreciation. Explain with suitable

30.a)

30.b)

illustration,

Prepare Income and Expenditure account and Balance Sheet from the

[OR]

following Receipts and Payments Account and Balance Sheet as on 31* Dec

2014,
Receipts and Payments Account for the year ended 3 1 Dec 2014
Receipts Rs. Payments Rs.
To Balance b/d 10,000 By Expenses for 1,200
To Subscription:2013 200 2013 © 2,000
2014
2014 2,100 By Land 4,000
2015 100 2,400 | By Interest 400
To Entrance Fees 800 | By Miscellaneous | 2,000
Expenses
To Locker Rent 700 | By Balance c/d 8,300
To Miscellaneous Income 4,000
17,900 17,900
Balance Sheet as on 31* December 2013
Liabilities Rs, Assets Rs.
Capital Fund . 33,620 | Building 30,000
Subscription received in 600 | Outstanding Subscription 380
advance Fal
Outstanding expenses 1,400 | Outstanding Locker Rent 240
Loan . 5,000 | Cash 10,000
40,620 40,620

State the differences between Income and Expenditure account and Receipts

‘and Payment account.

' [OR]

CO4 K2
CO5 K3
CO5

K3
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) Section — A 20x1=20] | K-
Qn ectio gl ] o)
No. Answer ALL the Questions . : Level
. Management is what a manager does__ : COl K1
[a] Peter F. Drucke. [b] Terry
[¢] Louis Allan [d] Hendry lj“ayol‘l ,
COl K2

sation has no influence over the
[b]external environment

2. Control system of an organi

[a] internal environment

[c] customers [d] government

3. The first and foremost function of managementis - COl K1
[a] planning. [b] organizing :
[¢] controlling [d] coordinatidn
4.  Goals, aims, pufposes, missions and target is also known as COl .K2
[a] objective [b] strategies [c] polices [d] rules
5. The process of establishing a time sequence for the work isknown-as/__.__ coz K2
[a] objective ) [b] schedules
[c] procedures [d] budgets
6.  Plan that establishes a required method of handling future activities is co2 K1
called : | :
[a] rules [b] procedures [¢] policy [d] methods
co2 Kl

7. Supply of human and material resources and helps to achieve the objective of

business is

[a] planning [b] organization

[c] management [d] control

- 5 ¥




4. 0 . i t
8.  Anidentified group of people contributing their efforts towards the attainmen

of goals is called as

(a] organization [b] business

[c] management [d] department

0.  The selection of best alternative from many alternatives is knownas____
[b] decision-making

[d] budgeting

[a] selection
[c] organizing

10.  Placing purchase order is an example of .

[a] programmed decision [b] non-programmed decision

[c] major decision [d] decision |

11.  The decision taken by lower level management isa
[b] non-programmed dgcision

[a] programmed decision

[c] major decision [d] minor decision

12. Programmed decision is also known as o 1
[b] structured decisions

[a] routine decisions

[c] strategic decisions [d] operative decisions

13.  Expectancy motivation theory is givenby ___.

[a] Vroom [b] Maslow [c] Herzberg  [d] Mc Gregot

14, deals with appointing people and placing them at the appropriate

~ jobs. ;
[a] Human resources : [b] Recruitment
[c] Staffing ALY | | Placerilent
15. A decision which is taken to meet unexpected situation .
[a] problem decision ° [b] certainty dqcisioné'
[¢] crisis decision /" [d] organizational decision

16.  Elements of delegation
[a] responsibility, authority, accountability '
- [b] authority, delegation, accountability
[c] responsibility, decentralization, centralization
[d] controlling, responsibility, authority

17. Fedrick Winslow Taylor"s Mechanism of Scientific Managément includes

[a] blind task setting [b] Planning the past
[c] Standardization of tools and equipments i

! Ed] scientific management

coz

Cco3

CO3

COo3

COo3

CcO4

CO4

CO4

- CO4

€05

K2

Kl

K2

K2

K1

K1

K2

- KI

K1



18.

9.

20.

No.
2l.a)

21.b)
22.2)

22.b)
23.a)

23.b)
24.a)

24.b)
25.a)

25.b)
Qn.
No.

26.a)

26.b)
27.2)

; i i K2
The higher the level of the employee, the lower the job satisfaction CO5

[a] Managerial [b] Educational

[c] Satisfaction’ [d] Accountability
: CO5 K2

The different A’s of the service sector are

[a] Acceptability, Awareness, Answerability

[b] Acceptability, Awareness, Availability
[c] Administration, Awareness, Availability

[d] Acceptability, Acknowledgement, Availability

Communication barriers not in the international environment is CO5 Kl
[a] Loss by transmission [b] Loss by poor retention
[c] Poor listening [d] Debtors
Section — B [5x6=230] CoGs) K-
Answer ALL the Questions Level
List out the characteristics of management. Col Kl
[OR]
What are the features of management and administration? CO1 Kl
Discuss the advantages and disadvantages of MBO. CO2 K2
.[OR]
Distinguish between policy and procedure. CO2 . K2
State the features of line and staff organization. CO3 K2
[OR]
Discuss the nature of problems that arise from centralization of authority. CO3 K2
Describe the various sources of recruitment. | CO4 K2
[OR] ‘
Enumerate the qualities of a leader. _ Co4 K2
“Control is an all pervasive function” f)iscuss. : ‘ COs5 K3
[OR]
Enlighten the correlation between planning and cbntrol. ‘ COs5 K3
Section = C 7 _ [5x 10 =50] K-
Answer ALL the Questions ) Level
Explain the nature of management. : CO1 K2
~ [OR]
Discuss the various approaches to the study of management; ' COl. K2
Elaborately explain the steps involved in the planning process in a modern
' COo2 K3

organization,



27.b)
28.a)
28.b)
29.)

29.b)

* 30.a)

30.b)

[OR]

Which requisites are essential for making planning effective in organization?

Identify the factors that determine the degree of decentralization in an
organization.

[OR]
Categorize the different types of organization chart with their features.
What steps would you take in selection procedure for recruitment?

[OR]
What are the differences between autocratic and democratic leadership styles?
Elaborately examine the process of control.

[OR]

Build the requirements of effective control system.
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Qn. Section — A [20x1=20] CO(s) K-
No. Answer ALL the Questions Level
v is the ultimate aim of every business. . col Kl

[a] Render service  [b] Eammg profit  [c] Goodwill [d] Reputation

suellaSHE (PeEW CHIEsD -
(&) Goove G (sy) eorub FLL (@) BHOULT () peoGsveaD
2. s the foundation of business. CO1 K2
[a] Customer  [b] Manufacturer [c] Suppher [d] producer :
UHEHP6 SIHS6MD SIIOLLELT ——---mn
(o) aumgsmSWTEN (&) 2 pubgLmeny
®) efafCwrdaasiy (R swrflourery

N Doctors, Lawyers, Engineers are the '
[a] sole proprietor [b] professional people
[c] co-operative organisations [d] previding job security ;
wHSSIT, eupdsdlieny, GQuriwren, GeIjaEeiT ---m-m i ; COl K2
(o) seflwnst euenllsld (21) OamPsdpamn &6
(®) & Boe] FRs (7) Geusmev LIMGHISHSTLILISTI

4. is an economic activity.

[a] Warehousing [b] Banking [c] Finance  [d] Business
seiug QuraenTemy GFwisd. : | 801 K1
(o) ELhg () ks (@) mag (7) suewilsLb _'

3 One man business is ) v CO2 K1
[a] sole proprietorship [b] professnonal people [c] firms [d] companies '
Sl cUERNEID ETEILIGHI — —mmmmsweere-

(1) Sefwre cuenflsLD (ag) QULDLIBN
(B) emBhBULFD (F) SPBULFLD

6.  The liability of a sole proprietorship is ; CO2 KiI
[a] limited  [b] unlimited [c] minimum  [d] maximum,
ganwnen cuemiESHe Qurgin) - ----- -,
(D)) uenIWIBISSLI L M6 (o) auIbUBBEI
T () GODHhSULFID F) oPsuLFD

i Sole trading concern is
[a] free from government regulatlon [b] limited liability
[c] plurality of persons [d] implied agency -



10.

11

12.

13.

14.

15.

selune sisfssHs SIbFD —
(®) spfar &L GUUTE @& CFrwsUGH
(R) susTwEssOUCL QuTgty

(®) Peopw mujssh
() wenws By

The simplest form of business organisation is .

[a] Sole trader  [b] partnership [c] company [d] cooperative
s asfowwrss suslls senoiny aeug ——.

(&) Pewwrstt suenfla®id (=) Sl LTexiisnio

& Powon (F) Sl (bmey FrBD

Partnership firm is governed by .

[a] Indian Partnership Act 1932 [b] Indian Partnership Act 1972
[c]. Indian Partnership Act 1985 [d] Indian companies Act 1956

SaL LTSN 6hS FLLID ;

(&) @pHw swLBF LL0,1932 (&) BhHW s BFFLLD, 1972
(®) @pFw &LBF FlLb 1985 (F) @hPHw HowssiLb, 1956

The minimum number of members required to form a partnership is

[a] 7 [b]5 [c] 3 [d] 2

Sl Lnewienoulls) GHmBHSULFW BUjEsT BHSH60 Cousmi(Bib.

(o) 7 (=) 5 ® 3 (%) 2

____partner only lend their name to the firm as partner.

[a] Nominal [b] Sleeping [c] Dormant [d] Minor

— Gl LTen] FESsfear Quweny WLED slLraisnwoulsd CaTiuTTSsT

(o) Guwgeney galLremy () SEGD Fal LTy

(@) GFweomm &alL ey () flm UBGST]

Every partner is an of the other members of the firm

[a] Sole trader [b] agent - [c] partner [d] suppller

@allaur® siLrenm> Um &L menfle 46U

(o) sl wafly auels] () psauy

(®) sl Lmenj : (%) Qam@lusu]

A joint stock company has

[a] short life [b] perpetual succession

[c] unlimited liability [d] restricted right to transfer shares
HLG URG Poaassan Gusiy —.

(&) Gm@w &b () Bybsy Sieod

(@) awmyupn Curgiiy (F) uBIGSsnsT LTHD (PRWITSHI

The voting principle of company is .

[a] one man one vote [b] two man one vote

[c] two vote one man [d] one share one vote

Boeusisgen Cseiams ;
(o) 96 waligs gn WEE (W) BG LA 96 ATES
(@) ouTsEE 9f LaZ@EE (F) 96 ULE 90 UTEHS

Uncertainty of duration is applicable to
[a] sole trading concern [b] company
[c] banks [d] consumers-operative society
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16.

18.

19.

20.

22.b)

23.a)

&MGAd Hasuommn sHaemw agihs GuTmbHn? &
(o) gaflwnsht aeflamnd () Hown (@) awkd (7)) FWLBDsy FRsD

A Public company must have at least directors. cOo4
[a] 2 [b] 3 [c] 5 [d] 7

Gurg Poiohdsd GonHHULL BUbEB] —

()2 («4) 3 @) 5 (#)7

____is essentially an association of persons who join together on a
voluntary basis for common economic interests.

[a] Company [b] Joint Hindu family firm

[¢] Co-operative society [d] Non-profit Organisation

s BDISUAID  SEADITT6N BUTHENTE SHhEBEHHBTE GLUTH COs5
SRS EHHBTEMD QIIbLTSEUUGBLD.

(o) Poiow (z) &G Bbs GELUD

(B) L Bmsy FhswD (%) @eooru CEHTHEMHD SiHIOULY

Co-operative societies are governed by COs

[a] Indian co-operatives Act 1932  [b] Co-operative Societies Act,1921
[¢] Indian Partnership Act 1985 [d] Indian companies Act 1956
&L(Bme| FRSSHSHE FLLID aTaHILS

(o) @B mLEDey sLLD 1932 (o) &l Bmey FapdssLd 1921

(®) @bglw salLreny FLLb 1985 () @bHw Hmies b 1956

The minimum number of members in co-operative society is

[a] 50 [b] 75 [c] 25 [d] 30
&l (bpe| FRSSHSHE GOmHS UL 2 gl CO5
(21 50 (=) 75 @) 25 (%) 30
<A co-operative society is organsied primarily with the object of rendering
maximum to its members.
[a] service [b] profit [c] capital [d] liability
Sl Gme] Fhisd Lolluga emeownu Criasbh g COs

2 _pulafosense AFeUlF SiefMULSTESLD.
(o) Gaemey (=) eomLib ®) wzeb (F) Gurging

Section — B [Sx6=30] .CO(s)
Answer ALL the Questions
Write a short notes on business,
susrfiad ubn GUlY euemrs. COl
[OR] ' :
What are the characteristics of business? : COl

suemll & HPl6i - LSS Wwireney?

What are the features of a sole proprietorship?

Salwmell eueniiaSHle BuieoLsemst LD samis. Cc02
, [OR]

Find the social utility of sole trader in the society

;aﬂmrrsir oullasFe FWHTL BT UBy Smis. CcO2

Explain the features of partnership firm.
Sal_Lnewienoulsll subFmsmen eflondes. CcO3
[OR}

K2

K1
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* 30.b)

23.b)
24.a)
24.b)

25.a)
25.b)

Qn.
26. a)

26.b)
27.a)

27.b)

28.a)
28.b)
29.a)
29.b)

30.a)

Classify the kinds of partners
SlLneflaen eusnement LbmY) Omefley LGHSIS.

List out the features of a joint stock company
PowgHer DibsFmsmen UL QWGBS

[OR]
Classify the kinds of companies in India.
BbFwrellsd CrwsuBd MHoIosms amSUILGSSIS.

Summarize the features of cooperatives.

L (bUe] FRSSHHE DIDFBISHmEN UDN HHHE U] H.
[OR]

Explain the functioning of District Central cooperative society.

LIILL WSS Sl (Bmey FRsSmSL LD eflendEs.

Section - C " [5x10=50]

Answer ALL the Questions
Find the qualities of a good business man.
Pm S0 FmbS cuenGaien GaMEIBMaT HUIL 1S,
[OR]
Describe the characteristics of an ideal form of organisation
@m Fflwrenr FBpeueNd SiOLILSET -augsuHmEG UbM allendds.

List out the merits of sole proprietorship

Seflwimei suswﬂ&sg,g‘,]m Uwleiisemen LI 1gu160l(B&.

[OR]
Show the limitations of sole trader and their suitability places in running a
" business. :
safre euerlafer auybysst ubilu, abhs GLHH Siafler euemis
usmiysst Ffluns @meGL aaums ubn GOl s,

Explain about the Limited Liabiity Partnership.
UESSLIUL L QuIpy 6 Bpeemd upb STRBIS.

' [OR] .
Show the pros and cons of running a partnership firm.
anL_Lmemteniowllel  [HeirenLoa 6l wg;g;]m Seowset UHM smDis.

Contrast the features of partnershlp and company.

@O BHOIod BEID Fal L TERTEnLD ubni  CauBILTBENeT  Fnid.
[OR]

Explain about the Memorandum of Association.

P FHISS S @ﬂuurrsmsr umn)  eflesEs. -

Explain the merits and demerits of cooperative society

au.@gnsu FRIESHE BT, BMEMET allansEs.
[OR]

Classify the types of cooperatives in India.

* @hBHuwnallsd 2 citen Fnl Bme) FHGSH umssmen OFerley UGHSIS.

CO3 K2 -
CO4 K1
CO4 K1
COs K2
CO5 K2
K-
CO®) Level
COl1 K1
CcOl K1
CcO2 K1
CO2 K1
co3 K?
CO3 K2
Co4 K2
CO4 K2
CO5 K2
CO5

K2
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END SEMESTER EXAMINATIONS - NOVEMBER 2020

(UNDER OUTCOME BASED EDUCATION (OBE) PATTERN)

Programme: All UG Programmes Date: 15.02.2021
CourseCode: 20UVEV11 . Time: 10 am -1 pm
CourseTitle: Value Education Max. Marks : 100
. Qn. Section—-A . [20x1=20] CO() K-
No. Answer ALL the Questions Level
¥ are the rules that define human interactions. COl K1
[a] Values [b] Good faith
[c] Personality [d] None of the above
efg CSTL_fLGemer euengwmI&GL aflSser.
(S) wHLIYs6T () BOBLIES
(®) eperin (%) Gupseam e e1g/aytllaenscy

2.  We are going through a crisis of value in our social and life. COl K2
[a] social [b] political [c] family [d] none of the above
BTtD  GTEISGIT FeLpS LOHMILD urpsamsulled wHUilar Grmasy amw
FEREECpnid. .
(&) seps (o) ST wad
(®) GO (F) CuopsenrLeneuegajLbleane

3. What are the factors of language growth? CO1 K1

[a] Level of literacy [b] Cultura_l growth
[c] both (a) and (b) [d] None of these

Ouomp).euenjd@ufleir &myendis e wreneu?
(o) saaflwplaiearslane (2h) sIFETT MaTjss)
(@ @uew( (o) wpph (&) 7 Qo ageleme :
4. is to be identified with other feelings. Col1 K2
[a] Moral [b] Value [c] Empathy [d] Respect '
LODD 2 CRT6YS @5 LG SenL_wrartd sreLiuL. GesewGiLd.
(&) smbsd (@) Ly () uéqrngigrrut.b (%) wfiwrens

607 K1

5. Karma means
[a] action or dead [b] confidence

[c] social value [d] reliability
SHLOM CTEDTGY sty GlLimaper.

(o) Qewa Howg @niHS (&) BLLIEHS

(@) sapswPLY (F) BOLIBSSEIEDID



10.

11

12.

religion takes Mohamad as the messenger of God Allah.

[a] Hindu [b] Islam [c] Christian [dJ Si'khs _
Coranwed sl Howrabaler grsons  weh ﬂﬂﬂ‘sa&ffm""z’—r_"@'

(@) @rs («) @evevmd (@) @evgeud (%) d@zhy
The founder of is Lord Mahavir whose childhood name is
vardhaman. '

[a] Jainism [b] Islam [c] Hindusm [d]'Buddlsm '
UBQUTS BT - 0SS CHIHIGHT]. suflsr GLpes Cluwg
UIFLoa.

(&) Fwenr (2y) Gervevrmo (®) @rgy (%) yos

means without violence. '

[a] Crime [b] Civil [c] Ahimsa [d] Himsa

TRIDITE) QUG @)edeuTinad BHLILIS.

(8) GopLb (=) Bafled (8) wyarfioemns (F) venggsev

Proximity to nature is a characteristic feature of

[a] agrarian society [b] urban society

[c] industrial society [d] post-industrial society
Quiesuiar o msrenio 371 /WY. J pe— FpsSEIa @@ FpUiuey
SILOFLDTGLD.

(@) aflevemw (=t) B&T

@) GsmAagemn o (7 Qsmflabgamnss WEmsw

The total organisation of social life within a limited area may

be termed
as

[a] a community [b] an association
[c] an institution [d] a society : _
86 GO L LGS GerenTen #ups aumpsensuier Qongg SfenioLiyy ;
(9) @@ sapsLd ; (&) @@ smsL)
(& 96 Hneernd | M @@ supsmLDd

Which of the following will nof be considered as Pfimary group?
[a] Family [b] Peer Group  [¢] Neighborhood [d] Crowd

» Ueiraugeuerauped o1 (wpseirenins GWaIs sGSLULTg?

(‘:SI) GOwuL  (g) Lﬂmj@@ (8) osmran: Lmy (W) &b

The main duty of the family is
[a] schooling

[b] socialization
[c] internalization

inte [d] agriculture
GOLUSHGT WERW F1_enip j '
(&) wairefl Lig Ly (&) Fapaswwinrsse

(®) OeverllBm Buounonszsy - (" efleusmuis

Co2

CcO2

CO2

COo3

CO3

COo3

CO3

K1

K2

K1

K1



14

(R

17.

19.

Social Justice is concerned with equal justice, not just in the courts, but in all

Aspects of

|a] society (b] family  [¢] college |d] all of the above

rapafl erein gy ER e maeho 1ot Wineden, srave oih
i1 g i agy

W) smpaid 2)ha (W) @GbLnd s
R aciguf srpas

The word secularism came from

(2] Portuguese [b] Greek [c] Latin
wasder i Sarenin starp Qened Comfule) Bmpa cubzg.
() Curigdy RO () BCGrésw (@) wiBar

o el oy

Integrity is derived from

L 3aTRng.
() & (<94) Crienin (@) seireoin (7) Qummyiy
is a feeling or an ideology among a section of people.
[a] Regionalism [b] Dravida Movement
[¢] Communalism [d] Secularism
TaIUg @@ LUGDWetRen Gu 2_sien CICEREy OV TN
- ﬂjgngﬁgmngu&
(@) SrpPwengd (@) BoreflL QuéEsw

() UG LIS LD (F) wggenierenio

What is the main basis of the structure of family?

[a] Husband [b] Mother - [c] Both (a) and (b) [d] Marriage

GO s Lewlilar wEHw g Luen ag/?

(8) sewai (@) T (@) @@eugsis () wpms () (%)

w

-

Family is an agent of

[2] marriage [b] society  [c] socialisation (d) social institut_ion

@ wpsa) SGuuw e,

(&) Bowews (D) Fps (@) supswwwnssed (%)

sapsflneens
is one of the main aim of family life.
[a] Procreation [b] Marriage
[¢] Production of child [d] All of the above
GOvu wnpimeder wiHw Crnismiseie ey
(o) Qaneipze) (®) B@ewaid
B syiemgder TN 47 (%) Cupenflu Sarsgud
What is the second basis of the structure of the family?
{a] Husband and Mother [b] Marriage
[¢] Procreation [d] All of these

SPLuUSP e s _enioLiDeir @loeso_meugy o9 Luen ereiren”?
(&) sewweuein wHp b gy (=) Bmwenrd
B) @euQuméss (#) @ewas syemenzgg o

3

amiaeflgyih

(%) Guogmerin_ oo vsmemggnb

[d] Spanish

qualities such as honesty and consistency of
|a] team [b] integrity [c] character  [d] accountability
Cdenws wpgh Pewggaremnw Cuism LUV ] - p——

CO4

CO4

CO4 KI

Co4

COs

COs -

COS

COS

K1

K2

K1

K1



Qn. Section — B [Sx6=30] CO() K-

No. ~ Answer ALL the Questions Level
21.a) State the importance of Karma Yoga. COl K1
& Qunsrafles WPeBlwgg augens Qg Ml daaLo.
[Sisbs0g]
21.b) List out the significance of values. COl KI
UL &6 WEHWIF ugems UL g wed @ Eisar.
22.a) State the basic characteristics of Jainism. COo2 K2
FLOW LSS BevT 219 LiLieni_ ey sener &mil G miser,
[oisbevgi)]
22.b) State the moral values of Hinduism. COo2 K2
Q581 wsEBeir snLSH LGS s &y misar.
23.a) What are the issues of social integration? : N = K3
P QB EIE e LiL Ve dse0 56T wiene?
[sisve0gi]
23.b) Identify the importance of socialism. - CO3 K3
Cuingiamr e Gsm’ L war WEEWSFIuGenS DL umend Erewmis.
24.a) List out the transparency in professional values, j CO4 K2
Csmfled woenm wHLiLseia)d OeveliLien_g sarentoenus UL 19 w168 B mis e, '
_ [Sisvegi] e
24.b) Distinguish between Integrity and commitment. - Co4 K2
GrienLo OB@ID A FLiLewtilITameanr GeumyLi (SIS, '
25.a) State the role of family in value formation. = v et S
LRI 2 BGuTESSS FOLLSE e LIBIGN&S & )| I515 6T, '
- [oisveogi]
25.b) Write short notes on mass media and democracy. CO5 K3

Cai@sgen sert_smiseT LoPmiLh soemBmLISL @D38 € GPILIY s,

Qn. , Section - C [5 x 10 =50

K-
No. ' ~ Answer ALL the Questions CO(sy Level
26.2) Explain the different classification of values. | Co1 K1
L saefer QeualGaugs arensLiLim e aflens @ misar. : '
[s:a‘ma] :
26.b) Explain the self-initiatives and self-confidence. : CO1 Kl
B (P PpmILd Farendigens A wapem oflerd s risar.
27.a) Explain the beliefs and practices in Sikhism. ‘ : CO2 K2
888w wgFPa 2 eirer FLHLIS ST 6T LODMILD BENL (LpenDSenarT aflend g misa,
: [oisbsugI] ;
27.b) Explain the reasons for social problems like fundamentalism in India. Co2 K2

QEBwralled oy Liuer_eaungid Cuneirp sapsLi Ulré&enens endsner
ENJTABISEDOT GlaTe 5 Eis 6.

4



28.2)

28.b)

29.a)

29.b)

30.a)

30.b)

Identify the political awareness and its levels.

NIOWD NN ewien s 256 BIeDGUEEn T yLD DL LLITEMD BT6MIES.
[isbevgi]

Categorize the different democratic functions prevailed in India.

QEBwreled o_aien LD LABIUE G LISOLITEEMET . UDSLILIBESEYLD.

Explain the different types of accountability.

uaCeugy euenaswmer Curgiyemiena aflend @ misar.

[Sisdsogi]
Describe the areas of Integrity and Commitment.

Crievio wpmys 2 ST 19 & LGS semar afleufgaayis.

Explain how family helps to inculcate social values among children.
GYBossafilar. Gu saps oapilumiserer auanfés @@L eTeleumny
2 30/8ng) ST S aflerd @ miser.

[sisdeogi] ‘
Describe how values can be promoted through educational institutions.
saall Blpievarsiser ppeuis wLiLsamer eraleutni GuotbLiBEsammd GTQTLIGNG
Aufssas.

CO3

CO3

€04

CO4

COs5

COs5

K3

K3

K2

K2

K2
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END SEMESTER EXAMINATION - NOVEMBER 2020

Programme: B.Com. (C.A) | ¥ Date: 31.12.2020
Course Code: 17UCCC32 ; Time: 10 am to 1 pm

Course Title: Cost and Management Accounting ~ Max Marks :75

SECTION-A .  [10X1=10]"
Answer ALL the Questions.- &

| ‘Choose the Correct Answer.
1.Cost accounting is

[a] An instrument of management control
[b] Not needed if prices are beyond the control of the firm
[c] Nothing more than a detailed analysis of expenditure
| [d] Useful only in such orgax_iizaﬁons which have profit as the im
2.The term ‘Cost’ refersto . _ &
[a] The present value of future beneﬁts 4
[b] The value of the sacnﬁce made to acquire goods or servnces
[c] An asset that has given beneﬁt and is now expired
[d] The price of products sold or services rendered
3.Under which method issue of materials is priced at the latest purchase
price? |
[a] Simple average | [b] Weightcd a,verégé
[c] LIFO | . [d] FIFO

o,



4. The time wage system :
[a] Satisfies trade unions [b] Increases cost of production

[c] Benefits the less efficient workers [d] None of the above
5. Which of the following is usually a long term budget?

[a] Sales budget [b] Cash budget
[c] Capital expenditure budget [d] Fixed budget
6. Profit Volume Ratio is an indicator of _____ |
[a] the volume of sales [b] the volume of profit

[c] the rate at which goods are sold  [d] the rate of profit

7. The current assets to the current liability ratio is said to be satisfactory of it
is ‘ '

[a]1:2 ' [b]2:1
[c]1:1 [d]2:3
8. Debt-Equity ratio is _ X ‘
[a] Liquidity ratio - [b] Solvency ratio
[c] Profitability ratio  [d] Activity ratio
9. Current asset includes __ | ' _| .
[a] cash and bank balance ~[b] long term invest;hent
[c] machinery ‘ [d] dg?entures :
10. Tax paid is | :
[a] application'of fund [b] sourc_eé of fund
[c] no flow of fund '\ [d]-funds from operation
~ SECTION-B 58X 7=35]
Answer ALL the Questions.
11. a) What are the advantages of costing?

- [OR]
I,



b) A factory produces 1',000' units of a commodity. The cost of productimi
is: ‘ e

Particulars | Rs.
Raw materials consumed 1,00,000
Direct labour _ 50,000
Direct expenses . 10,000
Factory expenses L 7,000
Office expenses 4,500
Selling expenses | 15,000

What should be selling price to obtain a profit of 20% on cost? Prepare
cost sheet, : , ' o

12. a) In a factory, there are two service departments P and Q and three
production departments A, B and C. During April 2013, the
departmental expenses were:’ |
Production depts.: A Rs. 65,000; B Rs. 60,000; C Rs. 50,000;
Service depts.: P Rs. 12,000; Q Rs. 10,000; o

The service departments expenses ‘are allocated as follows:

A B C P Q-
Dept.P  30% - 0%  15% - 5%
Dept.Q  40% *  30% 25% % -

Distribute the service department’s expenses over the production
departments under repeated distribution method.
| [OR]
b) Calculate the eamings of a worker under Halsey plan and Rowan plan.

Standard time 72 hours, time taken 60 hours, time rate Rs. 3 per hour.
DA @ Re.1 per hour on time taken.
3
13. a) What are the advantages of budgetary control?
| [OR]



b) The expenses budgeted for pmdnétioh of 10,000 units in a factory are

given below: |
Particulars b e
. _ : unit

Materials ) 70
Labour . 25
Direct expenses ’ 201.
Fixed overheads (Rs.1,00,000) o g
Variable overheads - e TR
Selling expenses (10% fixed) 13
Administration expenses (Rs.50,000) . | 5
Distribution expenses (20% ﬁxed) ' 7
Total cost per unit ' ! 155

Prepare a budget for productlon of 8,000 unlts

14. a) From the -'followin’g information, _calc_ulate average collection period:

" Total sales Rs.5,80,000; Cash sales Rs.1,40,000
Sales returns Rs.20,000; Debtors at the end Rs.1,15,000
Bills Receivable at the end Rs,65,000. ]
[oR}
b) Calculate : i) Currentasset ~ii) Liquidasset i) stock
Current ratio =2.5: 1 - Liquidratio=1.5:%

working capital = Rs.1,50,000




15. a) From the following details, calculate funds from operation.

ParticularsL Rs. Particulars Rs.
3 Closing balance of |
Salaries 5,000 P &L alc 60,().00.
Opening balance of j
Rent _ 6,000 P&Lak . 25?000
Refund of tax 3,000 | Transfer to reserve 1,000
Prt.aﬁt. on sale of _'2,500 Goodwill  written 2,000
building off s
Provision fortax | 10,000 | Proposed dividend | 6,000
Loss on sale of | 4400 | tnterim dividend. | 5,000 |
plant
| T HOR] Y :
b) How does cash flow statement differ from fund flow statement?
SECTION-C [3X10=30]
Answer Any THREE Questions.

16. Distinguish between cost accounting and financial accounting.

17. From the particulars given below, calculate éarnings of three workers A,
B and C under Straight pi?ce rate system and Merrick multiple piece rate
system. | W |

 Standard time per hour 12 units; Normal rate per hour Rs. 0.60
The workers A, B and C have produced in a day of 8 hours as -

follows: A — 64 units; B — 84 units; C— 100 units.

18. From the following particulars have been taken from the books of ABC
Itd. ' |

2005 Rs. 2006 Rs.
Sales | 2,00,000 2,50,000
Profit 10,000 30,000

st



Calculate: i) P/V ratio ii) Break-Even sales - iii) Margin of safety

iv) Fixed cost.
19. From the following particulars, prepare the balance sheet with as many
details as possible:
Current ratio M- 4 | | 2.75
Liquid ratio ¥ 1.75
Proprietary ratio (Fixed assets / Proprietors’ 075
fund) - |
Working capital - Rs.1,75,000
Reserves and surplus ' “Rs. 80,000
Bank overdraft | Rs. - 40,000
There is no long term loan or Fictitious assets

20. The balance sheet of A Itd. as on 31st December 2015 and 31’it Decernber
2016 are as follows.

Liabitites | 231 | 2016 Rs. |  Assets | 2;;5 | 2016 Rs. |
Sharecapital | 50,000] 70,000 [Land | ~8000| 12,000
P&L alc 10,000 | 16,000 | Machinery | 50,000 | 80,000
Reserves 5,000 7,000 | Stock . 10,000 | 7,500
Creditors | 15300] =~ 19,000 | Debtors - | 14,000 | 14,500
Billspayable | 700]  500{Cash | 2000} 2000
Bankoverdraft | 4000|5000 | MR L | 1000 | 1500

85,000 1,17,500 | 85000} 1,17,500
Additional information: < kit K' '

i)Rs.5,000 deprcclatlon has been charged on machmery during 2016.

Prepare a cash flow statement.
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and DTP
SECTION - A 10X 1=10]
Answer ALL the Questions.

Choose the Correct Answer.

1. media perceive information in a computer environment by

seeing and by hearing.

[a] Presentation g | [b] Storage
[c] Perception [d] Transmission
2. Graphics are coded in video text format.
[a]PCM . [b] JPEG
[c] ASCII [d] CAPTAIN
3 tool enables to make free form selection with mouse click:
[a] Move " [b] Lasso |
[c] Crop [d] Slice

4. The icon used to swap the current foreground and background colors is

[a] Switch _ .[b] Default
[c] Pen | [d] Shape.
] e



S.

10.

11.

The tool creates a gradual blend between multiple colors..

[a] brush - |, [b] gradient
[c] paintbrush " [d] history brush
The tool used to lighten the pixels in an image is
[a] custom tool e [b] clone stamp tool
[c] dodge tool | [d] smudge tool
Drawing curves in a segment point to point is
[a] pen - '[b] polyline
[c] shape . [d] bezier
The effect enab/les to make an object appear 3D by
providing it depth or height. iy '
[a] transparency _ [b] contour
[c] blend foy [d] extrude
refers to the processl of removing uﬁneces_sary areas in an image.
[a] cropping = Sy [B] skewing
[c] rotating _ ’ [d] resizing
modifies the coarseness of the bitmap image.
L cohtqur | ; [b] noi§e \
[c] plugins i . *[d] sharpen
SECTION-B [5X7=35] .

Answer ALL the Questions.

a) Write the attributes of media. |
[OR]
b) Write short notes on graphics hardware Input and Output.

.




. a)‘ Discuss the Panels available in Photoshop.
[OR] |
b) Explain setting of forc::ground and background using color selection
tools. |
13. a) Explain drawing tools in Photoshop.
[OR]
b) Write about applying filters from filter gallery and how to blend and
fade filter effects? Ay
14. a) Write the basic categories of tools .
[OR]
b) Discuss views in CorelDraw. ' -
15. a) List the steps to import images in CorelDraw.
[OR] '
b) Write about working with rulers in CorelDraw.
SECTION-C [3X10=30]
Answer Any THREE Questions.
16. Discuss the characteristics of Data stream. |
17. Briefly discuss about editing images in Photoshop.
I8. Explain Hiding , Showing and Deleting layers in Photoshop.
19. Describe drawing and selection in CorelDraw.

20. Discuss about Text Editor in CorelDraw.

-,
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SECTION - A [10 X 1=10]
Answer ALL the Questions.
: Choose the Correct Answer.
1. Statistics deals with aggregates of

[a] Figures [b] Numbers
[c] Facts  [d] Graphs
2. Secondary data ‘ |

[a] Should never be used
- [b] Should be used after careful scrutiny -

[c] No scrutiny is required while using it

[d] None of these
3. Give mean 25, mode 24, the median would be
[a] 25.5 [b] 24.67
[c]23.4 5 byt [d] 25
4. Co-efficient of range is calculated by the formula
[a] L-S /L+S - ' [b] L+S/L-S

[c]L-S/L-S : [d] L+S / L+S

5



5. When Co-efﬁcicnt.of Skewness is zero the distribution is

[a] J-shaped ' [b] U-shaped
[c] Symmetrical [d] Parallel
6. The rank correlation was developed by
[a] Karlpearson | [b] Spearman
[c] Bowley [d] Fisher
7. The two Regression Co-efficient can be both
[a] positive . [b] negative
[c] free from sign . [d]' either positive or negative.

8. What is the value of X,in the regression equation X= 7.5y +32.5 whey
Y =5? , ‘
[a] 32.5 - [b]70.0  [c]67.5 [d] 40.0

9. The component‘s of a time series are ;
| [a] T,S,C.I | [b] T.S,C
[c] S,C,I [d} T.C,]
10. Which of the following is the most unstable average?
[2] Mode " [b] Median
[c] Geometric Mean [d] Harmonic Mean
SECTION-B [5 X 7=35]

Answer ALL the Questions.

11. a) What do you mean by statistics? Write down‘ the éharactcristics of
statistics. = .

' [OR]

b) Explain the different types of data. ‘

3




- 12. a) Find out the mode from the.following data. |

X 105 |5-10 |10-15|15-20 [20-25 |25-30 [30-35

Y. 11 2 5 14 110 9 2 ’
[OR]

b) Find the mean deviation from median and its Co-efficient from the

following data.

X 0-10 | 10-20 | 20-30 | 30-40- | 40-50 | 50-60 60-70 | 70-80
Y 20 25 32 40 42 35 10 8

13. a) Calculate the Co-efficient of Skewness.

Age 0-10 [10-20 [20-30 | 3040 | 40-30
No.of Person ~ | 8 11 26 g 18

g 108 |
b) In a Competition the remarks of three judges are as‘follows. Decide

which pair have nearest approach (Usé rank Correlation).

Judge A I, 5704 .18, [9- 16 [0 17 I3 I2
JudgeB |4 |8 |7 |6 |5 |9 [10[3 {2 [1
JudgeC |6 |7 |8 |1 |5 [10]9 [z |3 |4

14. a) Distinguish between correlation and regression.
OR]
b) Obtain the two lines of regression from the following data.
X=68,7=150, 0,=25, 5, =20, r=0.6
. A



15. a) Fit a trend line to the following data by the method of semi- averages.

-

|

| Year | 1991 | 1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999 | 2000
I\L Sales | 153 \146 168 | 175 | 173 |[210 |223 |[201 |231 |245
[OR]

b) What are the different components of a time series in details.
~ SECTION-C [3X10=30]
Answer Any THREE Questions.

16. Explain with examples, the four types of classification.

17. Find the standard deviation for the following distribution.
Class ~ [0-10 [1020 [20-30  [30-40 |40-50
Frequency | 5 | 8. 15 16. 6

18. Compute the Co-Efficient of Correlation between X and Y
X[10 [12]18 [8 [13 [20 |22 [15[5 |17
Y|[8 |90 (94 [8 (87 |92 {96 |94 |88 |85

-

19. From the following data, obtain the two regression equaﬁoﬁs.

Sales 36 |23 [27 [28 [28 [29 [30 |31 |33 I35

Y

Purchases | 29 18 |20 22. 427 }21 29 27 29 28

20. Fit a straight line tends equation by the method of least squares and

estimates the value of 1999,

Year | 1990 | 1991 | 1992 1993 | 1994 ‘1995 1996 | 1997

Value [38° 40 (65 |72 |69 |60 (87 T93-
N
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SECTION — - [10X1=10]
Answer ALL the Questnons

Choose the Correct Answer.
. Fire insurance provides cover for

e

»

[a] tangible assets 3 [b] intangible assets
[c] fictitious assets  [d] current assets

2. The average clause in a pohcy is concerned with 7

[a] over insurance [b] under insurance

[c] consequential loss | [d] combine_d insurance
3. Royaltyis an agreemcnt hetween the persons of

{a] seller and buyer [b] banker and customer

[c] trustee and beneficiaries ~  [d] landlord and tenant
4. Dead rent is-also called - ' d

[a] outstanding rent [b] minimum rent

[c] prepaid rent [d] postpaid rent
5. Sales ledger adjustment account 1s opened in F

[2] sales ledger [b] bought ledger

[c] general ledger

[d] purchase return ledger
) '



6. The amount of deficiency is given under
[a] List A [b] List B [c] List C [d] List H
7. Depreciation on assets should be divided among the different departments

on the basis of
[a) Floor space [b] Sales price
[c] Purchase ratio [d] Assets value of each department

. The objective of Branch accounting is to know
[a] Profit / Loss of each branch
[b] Profit / Loss head office
'[c] Appropriation account
[d] Financial position of branch and H.O
9. The cost of goods sold on hire purchase is transferred to
[a] Sales account - [b] Purchases account
[c] H.P. Trading account [d] HPP/L a/c

10. In case of installment system total interest receivable by the seller is

credited to
[a] Interest suspense account [b] Interest account

[c] Sales account [d] Purchase account
SECTION-B [5X7=3§]
Answer ALL the Questions.

11. a) Calculate insurance claim from ‘the following facts assuming that the
insurers met their liability under the policy on average basis. A trader s i.
stock valued at Rs. 4,00,000 was totally destroyed. The stock in the
godown was insured for Rs. 3,00,000 subject to average clause. The |
balance of stock. left after fire, appeared in the books at Rs. 2,40,000. |

[OR] |
-2- I




b) A fire occurred in the premises of Mr. Palraj Ltd., on 10.10.2018. All
stocks were destroyed except to the extent of Rs. 6200. From the
following figures, ascertain the loss of stock suffered by the company:

Stockon 1.1.2017 - 40,000
Purchases during 2017 et ~1,45,000
Sales during 2017 |~ 2,00,000
Stock on 31.12.2017 | 25,000
Purchases during 2018 upto the date of fire | _1,52,200
Sales during 2018 upto date of fire | 1,89,000

12. a) Nandha took from Siva. Lease of a coal field for a period of 25
year from January 1, 2018 on a Rdyalty ofRs 10 per tons of coal
raised with a minimum rent of Rs 1 00, 000 a year and power to
recoup short workings durmg the ﬁrst four years of the lease. The
annual outputs were: I year 30000 tons, I year 50,000 tons; III year
1,00,000 tons; IV year 2,00,000 tons, Give joumal_enmes in the books
of Nandha. | '

[OR]
b) A company leased a colliery on 1-1-2015 at a minimum rent of
Rs.2,000 merging into a royalty of Rs.15 per tons with power to
recoup short workings over the first four years of the lease. The output .
of the colliery for the first four years was 900 tons, 1,200 tons, 1,600
tons, and 2,000 tons respectively. Give necéssary ledger accounts for
four years in the books of lessee.
i T



13. a) Prepare the sales ledger adjustment account from the following
information relating to the year ended 31.12.2018.

14.

Paniculgrs Rs. Particulars Rs.
Opening balance of | 40,000 | Bills receivable 500
debtors ~ | dishonoured
Sales (for cash of Rs. | 90,000 | Bad debts 1,000
10,000)

Cash received from | 80,000 | Transfer to purchase 2,000
~ | debtors | ‘ ledger

Discount allowed to ‘ 500 Reserve for  doubtful | 1,500

debtors _ | | debts

Bills receivable | 3,000 | Bad debts of last year | 1,000

received from debtors | i received

Sales returns g By ) R

* | ~ [OR]

 b) What are the differences between the Balance sheet and the

Statement of Affairs?

a) What are the bases for allocation of common expenses to different

departments of an organization? '

[OR]




b) From the following particulars prepare a branch account showmg the
profit or loss at the branch.

Opening stock at the branch | - 15,000
Goods sent to the branch 45,000
Sales 60,000
Salaries , 4 -5,000
Other expenses - 2,000

Closing stock could not be ascertained but it is known that the branch
usually sells at cost plus 20%. The branch manager is entitled to a

comm1ssmn of 5% on the profit of the branch before chargmg such

‘commission.

15.a) On 1.1.2018 Ram bought some trucks under hi;'e;pumhase system
for Rs. 71,000 payable by three equal instalments combining principal
and interest, the 1atter being a normal rate of 5% per annum. Calculate
the cash price. ("I'hé present value of an annuity of one rupee for three
years at 5%s 2.72325). |

' [OR] .
b) Mr Siva purchased a machine on hire purchase system Rs.3,000
being paid on delivery and the balance in five instalments-of Rs. 6,000
each. Payable annually on 31% December. The cash price of the
machine was Rs.30,000. Calculate the amount of interest for éagh .

year.



SECTION-C [3X10=30]

Answer Any THREE Questions.
16. A fire occurred on the premises of Mr. Siva on 30" June 2018, destroying
the greater part of his stock. No stock records have been maintained. The
following information was ascertained from his books which were not

involved in the fire.

Accounting year Sales Rs. Gross
Profit Rs.

2015 12,50,000 3,75,000
2016 8,00,000 1,60,000
2017 9,50,000 95,000
2018 2,83,000 " :
Value of stock on 1.1.2018 _ 75,000
Purchases from 1.1.96 to 30.6.2018 2,60,000
Value of stock salvaged ' - 10,000

Prepare a statement showing the amount to be claimed from the
insurance company.

17. Monika Co. Ltd., obtained on 1-1-2014 from landlord a lease of coal mine,
the terms being a royalty of Rs.0.50 per ton of coal raised subject to a
minimum rent of Rs. 4,000 per annum with a right of recoupment of short
workings over . the first, four years -of -the lease.
Monika Co. Ltd., granted a sub lease of part of the land to Shalini on a
royalty of Re. 0.75 per ton merging into a minimum rent of Rs, 2000 per
annum with a right of recoupment of short workings during the two years
following the short workings. The output for the five years is-as follows

Year Monika Co Shalini
2014 4,400 1,600
2015 4,640 2,160
2016 5,200 - 2,800
2017 . | 5,600 3,600
2018 7,200 4,300

Give the necessary journal entries and ledger accounts in the books of |
Monika Co. Itd. ' ‘

— - . —



18. Mr. Raja is insolvent. He supplies to you the following information as

on 31.12.2018.

I S —

Particulars Rs. Particulars Rs.
Cash in hand 1,000 [ Creditors for goods | 5,25,000
Salary due to clerks 7,000 [ Taxes  due  to| 21,000

government
"Bank loan secured by | 1,75,000 | Fumniture (Expected | _ 70,000
iIlif:m on stock of the to realized Rs.
book value of Rs. 35,000)
3,50,000 :
Stock (Expected to | 5,25,000 | Book debts (g00d) 70,000
realize 60%) ‘ |
Books debts (doubtful, | 1,75,000|  Bills receivable | 87,500
expected to realize (Rs.52,500 bad)
40%) st
Bills discounted | 1,05,000 [ Loan from Mrs. Raja | 1,75,000 |
(Rs.35,000 bad) ‘

Mr. Raja started business six years ago with a capital of Rs.4,37,500.

He drew Rs. 87,500 each year for private purposes but did not

maintain proper books of accounts. Mrs. Raja gave up her jewellery
valued at Rs. 70,000 to the receiver. Prepare the statement of affairs

and deficiency account.




19. The following. purchases were made by a business house having three
departments. : ‘

i) Department A 1,000 units; Department B 2,000 units;

Department C 2,400 units. Ata total cost Rs. 1,00,000.
ii) Stocks on 1% January were: Department A 120 units;

Department B 80 units; Department C 152 units.
iii) Sales were Department A 1020 units at Rs. 20 each;

Department B 1,920 units at Rs. 22.50 each; Department

C 2,496 units at Rs. 25 each. | |
The rate of gross profit is same in each case. Prepare Departmental

trading account.

20. Dr. Palraj sold out goods on hire purchase at a profit -(including hire
purchase charges) of 25% on cash price. Prepare the necessary accounts

under stock & debtors method from the following details:

On 1-1-2018 | _ 1,50,000
S B T BT o oL 1,35,000
Goods with customers on hire purchase on 1-1-2018 * 1,80,000
Prrchasts ' /- i 1 250,000 ||
Goods sent out in 2018 e 1 435,000 |
Instalments received o _ 3,00,000 |
Overdue instatments: on 1-1-2018 10,000 |
On31.12.2018 - 3 a 15,000|
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SECTION - A [10X1=10]
Answer ALL the Questions.

Choose the Correct Answer.
1. International trade is a trade between

[a] two nations [b] two states
[c] botha &b

[d] within nation
2. Trade between countries involves high transport costs because of

e —

[a] products [b] geographical distances
[c] trade policy [d] poliﬁcd policy

3. Commercial invoice is the |
[a] submission document [b] preparation docmnent
[c] financial document ™ [d] business document

4. The validity of assessed shipping bill is for- days.
[a] 15 [b] 30 [c]45 [d] 60

5. Bill of entry is specified
[a] quantity [b] value

[c] description [d] all of these

-



{

6. ;Fhe import manifest is a

[a] oral list [b] complete list
[c] partial list [d] both b and ¢
7. Duty drawback is a type of discount given to the
[a] exporter [b] importer
[c] buyer [d] seller
8. The period of pre-shipment finance allowed for days.
[a] 150 [b] 180 [c] 210 [d] 240
9. SEZs stands for ‘
[a] Standard Economic Zone - [b] Standard Export Zone
[c] Special Economic Zone ~ [d] Sub Export Zone -
10. EPC Stands for ﬁ \ !
[a] Export Price Council | | [b] Entry Promote Council
{c] Export Promotion Council [d] Export Product Council
' SECTION - B ¥ < [5X7=35]
Answer ALL the Questions.
11. a) What is EXIM policy? Explain its objectives.
[OR]

b) Write down the argument of Haberler and. Ohlin, w{th regard to
opportunity cost of the production qf commodities between nations.
12. a) Explain the various procedure for shipping and customs élearance:
| [OR]
b) Explain the receiving of an order.

s




13. a) What do.you understand by pre-import procedure?
[OR]
b) What are the stages in import transaction?
14. a) Write down the types of bill of lading._
[OR]
b) What are types of shipping bill?
I5. a) What are the assistance provided by the export promotion councils?
[OR] '
b) Write a note on EPZSs. '

- SECTION-C [3X10=30]
Answer Any THREE Questions.

16. Explain nature and scope of interijational trade,

17. Discuss about various stﬁges iﬁ-export ﬁroccdi;res. A_ -
18. Describe the legal diménsions of impdﬁ prc_jcedhre'. e '
19. Explain various roles of EXIM bank. |

20. State the functions of ECGC. i |

-
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SECTION - A [10X 1=10]

Answer ALL the Questions.
Choose the Correct Answer.

1. Share application account is a

---------------

"|a] Nominal account [b] Real account

[c] Personal account [d] impersonal account |

2. Bonus shares are issued

-------------

| [a] free of cost [b] for consideration
[c] for cash ~[d] at market price

3. After the debentures are redeemed, the balance in the sinking fund account

is transferred to ............. V |
a) Capital reserve a/c. _[b] General reserve a/c
b) Profit & loss a/c [d] Capital redemption reserve a/c
4. A debenture holder is ..............
[a] an owner [b] a loan creditor
[c] a director [d] a trade creditor

.




5. An underwriter may reduce his liability by entering into a contract with |

another person KNOWN @S +.vvvvevnennsan
[a] brokers [b] sub — underwriter
[c] sub-broker [d] agent:
6. The underwriting account iS a .............. :
[a] real a/c " [b] personal a/c
[c] nominal a/c ~ [d] outstanding a/c
7. In case of liquidation, the liquidators have to file a statement of the receipts
and payment known as ..........
[a] Receipt and payment a/c.; 5 [b] Trading a/c |
[c] Liquidator’s Final statement a/c [d] Statement of affairs
8. Goodwillisa ................ |
[a] tangible asset | - ‘[b‘] fictitious assets
[c] current_ assets N [d] intangible as-sets g
9. If the amount paid in excess of net assets acqu'iredr isto be debite_d (o AN | |
] Goodwillale . 7o S THT Adsek alo. '
(o] Catbite] eberieile U s aler
10. The excess of pﬁrchase cdnsidératit)n over net asset is .......... .-
[a] Securities premium - [b] Capital reserve
el Goodwill | ‘ [d] Preliminary expenses




SECTION - B  [5X7=35
Answer ALL the Questions.

11. a) Batliboi Co. Ltd., issued 50,000 equity shares of Rs.10 each to the
public on condition that full amo{mt of shares will be paid in a lump
sum. All these shares were taken up and péid by fhé public. Pass
journal entries in the books of company when .

a) Shares are issued at par i
b) Shares are issued at premium of 10% and
c) Shares are issued at discount of 10% !
' [OR]
b) What is right issue? What aréﬂthe’ purposes of right issue?

12. a) Timex Itd., issued 1,000 8% debentures of Rs.100 each. Give
appropriate journal entries in the books of the company, if the
debenture were issued as foll_ow;:. ' | %

1) Issued at par, redeemable at par-
2) Issued at disbpu'nt of 5% repayable at par .
3) Issued at premium of 10% repayable at par
4) Issued at par, redeemable at premium of 10%
_ 5) Issued at discount of S%I.repayal.)‘le‘ at premium of 10%
' [OR] |
b) Moon Rays Ltd. Issued 50,000 8% debentures of Rs.10 each to the
public at par, to be paid Rs.4 on application and the balance on
allotment. Applications were rét:eived for 48,000 debentures.
Allotment was made to all the applications-and the amount due was

received promptly. Give Journal entries to record the transactions.

.



13.a) A comp.any issue 30,000 equity shares of Rs.10 each -at,a pfémium of
10%. The whole issue has been underwritten by Zee & Co. for a
commission of 5%. The company received applications only for
26,000 shares. All the applications were accepted. Give journal
entries to record the above transactions. |

[OR]
b) The following underwriting of sharés takes place:
A-6000shares  B-2,500shares  C— 1,500 shares
The issue consists of 10,000 shares. The total subscription was 7100
shares and the forms included the following marked forms:
A — 1000 shares B —2000 shares - C —500 shares
Show the allocation of liability of underwriters
14. a) Calculate the amount of goodwill on the basis of 2 years purchase of the
last five years average profit. _
The profits for the last five years are Rs.8,200, Rs.10,500, Rs.5,100,
Rs.7,700, Rs.12,000.

[OR] .

b) From the following particulars calculate the value per equity share:
2000, 9% prg:férence shares Rs.100 each ‘ ©2,00,000
50,000 equity shares of Rs.10 each Rs.8 per sharé paid up 4,00,000
Expected profits per year before tax ; 2,18,000
Rate of tax 50%
Transfer to General reserve every year - 20% of the profit
Normal rate of earnings

15%

e



15. i) Rajan, a small scale industrialist decided to convert his firm into a
limited company with effect from 1.4.1996. But he obtained the

certificates of incorporation on 1% AuguSt 1996 and the certificate to
commence business on 1.10.1996. His accounts were closed on
31.12.1996. Find out the time ratio for the purpose of ascertaining pre

incorporation profit.

11) A company was 'incoraorated on 01.02.98 to purchase the business of
Abdul kalam & Son, as fr'om 01.11.1997.
There ‘were 10 employees before mcorporatlon but 5 more were
appomted on 01.02.98. You are required to ascertain the weighted

time ratio for dividing salaries between the pre and post incorporation

periods, assuming that the accounts are finalized on 31.10.
. i3 [OR] | ;
b) Ganguly Itd. Was formed with an authorized capital of Rs.12,00,000
| divided into equlty shares of Rs. 10 each, to acquire the business of A

and B whose balance sheet on the date of acqulsltlon was as follows:

Liabilities 'Rs o Assets ) Rs
Capital - -6,00,000_ Free hold premises | 7,00,000
General reserve 4,00,000 | Stock . 2,00,000
Sundry creditors | 2,00,000 | Sundry debtors 1 ,60,000

() prov. for bad debts 10.000 | - 1,50,000
Cash at bank 1,50,000

12,00,000
The purchase consideration was agreed upon at Rs.14,00,000 ¢

12,00,000
o be

paid in Rs.12,00,000 fully paid equity shares at Rs. 11 and the balance

in cash. Give journal entries to record the above transactions.

—5en
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 SECTION-C  [3X10=30]
" Answer Any THREE Questions.

16. Walter Ltd. Purchased land & buildings costing Rs.20,00,000 and in
payment allotted 20,000 equity shares of Rs.100 each as fully paid.
Further the company issued 40,000 equity shares to the public. The
shares were payable as follows:

On application Rs.20 = On allbtment Rs40 On cail Rs.40
The public applied for all the shares which were allotted. All money
were received. Give journal entries and the balance sheet of the

company.

17. On January 1, 2005 G.Ltd. issued 1000, 12% debentures of Rs.100
each at Rs.95. The terms of issue provided that from the year 2006.
Rs.20,000 of debentures should be redeemed, éither by drawings at par 6r
by purchase in the eper-l' market every year. _Thé ‘company wrote off
Rs.1000 from the discount on debentures 'évervy._ year. In .2006, the
debentures to be redeemed were repaid at the end of the year by drawings.
On 31.12.2007 tﬁe company purcha’sed*for cancéllationh 200 débehtui'es at
the ruling price of Rs.95, the eXpen_scs beihg Rs.100. Interest is payable
yearly. Give journal entries in the books of G. Itd and show the balance

sheet with the relevant items as on December 31, 2007.

18. Fast forward Itd. Made an issue of 60,000 shares which were
underwriters as follows: |
X-30,000 shares ; Y — 18,000 shares and Z — 12,000 shares
A A




19.

In addition, there was ‘Firm’ under.wfiting as follows:
X-3,000 shares ; Y — 1,500 shares and Z — 4,500 shares
The total subscriptions including ‘Firms’ underwriting were for 45,600
shares. The following marked forms were included in the subscriptions.
X-9000 shares ; Y — 13,500 shares and Z — 5,100 shares.
Show allocate of liabilities of each undemrlter |
a) If the benefit of ‘Firm’ underwrltmg apphcatlons is given to
individual underwriters by treating them like ‘Marked forms’
b) If the benefit of firm underwriting applications is not given to

individual underwriters, by- treating them like ‘unmarked forms’

The following particulars relate to a limited company which has gone into
voluntary liquidation. You are required to prepare the Liquidator’s Final
account allowing for his remuneration @ 2% in the amount. realized on

assets and 2% on the amount dlstrlbutcd to unsecured crcdltors other than

preferential creditors:

Unsecured creditors L - 2,24,000
Preferential creditors 4% 70,000
_ Debentures Wi : ,75_,000_
The assets realized the following s_ufns_: _
Cash in hand ' 20,000
Land and buildings -1,30,000
Plant and madhincry | 1,10,500
Furniture _ 7,500

NS .



"l‘hc liquidation expenses amount to Rs.2,000. A éhl] of Rs.2 per share
on the partly paid 10,000 equity shares was made and duly paid except

in case of one shareholder owning 500 sharés.

20. X Itd was incorporated on 01.08.2007. It took over the business of Y
ltd. With effect from 01.04.2007. From the following particulars
relating to the year ending 31.3.2008, find out profits prior to and after
incorporation. Sales for the year were Rs.60 . lakhs and pre

incorporation sales were Rs. 25 lakhs. Gross profit for the year was

Rs.18 lakhs.

The expenses debited to profit and loss a/c were:
Rent s 4 RS, 90,000 X
Salaries e 1,50,000
Directors fees 38',00_0
Interest on debentures 60,000
Audit fees ' i 15,000
Discount on sales 36,000
Depre_ciation ' : 2,40,000
General cxpénses 48,000
Advertising 1,80,000
Printing and stationery 36,000‘
Commission on sales’ 60,000

Bad debts (Rs.5,000 relate to.
debts created prior to incorporation) —15,000

Interest to vendor on purchase consideration upto 01.10.07 - 30,000

—8--
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SECTION Kb Y ekt

Answer ALL the Questlons

Choose the Correct Answer

1. What are the mam general sources of law?
[a] Courts and Governments =~ 29
[b] uourts and‘P,arllam'ents . |
= Government and‘Parlia'ments, | :
[d] Parliaments and the "Que‘en"“s‘ /Kings Representa'tives
. 2. The law in a society ‘assists\in regulating human behaviour and t‘hrough

this regulation, it promotes i Sl

[a] A legal order and social cohesmn
[b] Human nghts and freedoms

[c] Prevention- and deterrence of crime
[d] All of the above

X, 1A



3. A contract creates |

[a] Rights and obligations of the parties to it

[b] Obligations of the parties to it
[c] Mutual understanding between the parties to it
[d] Mutual lawful rights and obligations of the parties to it
4. An express offer means i " 5, i
[a] An offer made by letter 4 [b) An offer vrn'ade‘ by telephone '
[c] An offer made by e-mail © [d] All of the above -~ 7
5. A bailee has it ’. T
[a] A right of particular lien over the goods bailed

[b] A right of general lien - gl
[c]A rlght of both partlcular and general hen '
[d] No lien at all over the goods balled

6. The ballment of goods can be made by 1ts owner of

[a] Immovable goods b [b] Movable goods @

[c] Tanglble goods o [d] Intanglble goods '
7. The Sale of Goods Act extends to i

[a] Whole of Indla , - |

[b] Whole of Indla except Jummu & Kashm1r

[c] Whole of Indta except J ummu & Kashmlr and Dadra and Nagar :
Haveli-- v vir o '

[d] Whole of _India ex.ccpt Lakshadweep. A



8. Anagreement pf hire-purchase in'clﬁdes the agreement of _
[a] Sale and agreement to sell '

[b] Bailment of goods for hire an agreemént t6 sell
[c] Sale and bailment for hire.
[d] Both [a] and [c]

9. Whyis arbitration preferable in a business dispute?

[a] It is speedier than a court case
[b] It is less expensive than a court case -

[c] It is less damaging to business relationships than a court case

[d] All of the above >
10. The Ombudsman is responsible for invésﬁgating | kindof
conducting. : 3 S |
[a] Maladministration | -[b]_Poo~r administration

[c] Deficient administration [d] None of the options given is correct

SECTION -B . [5X7=35]
Answer ALL the Questions. i

11. a) Describe the sources of Business Law.
. [OR]
b) Discuss about the features of Law.
12. a) Explain the essential elements of a valid cohtract.
[OR] -
b) State the various kinds of cc;ntract.
13. a) Briefly describe the essential features of a valid bailment.
[OR] |
Hngie
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- SECTION - A g [10 X 1=10]

.‘An'swer ALL the Questions.

Choose the Correc’t'AnsWe'r.

1. The __ window is feferred to as the Object Window.

[a] Form™ ', 7+ 7 et 4 [b‘]Form"Layoilt

[c] Propertles i i [d] Code window
2. The Smallest data type in V1sua1 Bas1c S 4

[alByte v oy [b] Boolean

[c] Integer’ ’ 4] Smgle
3. Border Style 1s aproperty used for f:‘; :

alForms ™ v i o 7oy b] TexthoxJ'

[c] Label‘Box G ; [d] Command Button
4. “90” 4«57 = T
B D 90 s

[c] 91 g LT

R .

fags



5. Integer requires ytes of Storage space

[a] 2 bytes i [b] 4 bytes
[c] 8 bytes . [d]1byte
6. 152MOD 6isequalto ' g
[a] 3 - : [b] 3.0
[c] 2 Tty [d] 2.53
7. The . property can affect the appearance and behavior of the
dialog boxes. . _ v -
[a] Filter ~ [b]Flags '
~ [c] Filter Ittdex 5 5 [d] Custom*
8. The QB color functlon code for whlte s o el
Wy e [b]O" sl
Hie e e ) »
9. The ; property of a RICh Text Box retums or sets a string equal
to the currently selected Text. 1 %
[a] SelText <+ -7 ia o [13] Selstart
[c] Sellength i Gk 4] SelFont

10. To add several new lme characters at once the ~ method is used

while writing to files. ‘ e
[a]Write' -~ [b] WriteLine -
[c] WriteLines ’ e 14 'WriteB lankLines



11.

13.

14.

15.

‘SECTION - B [5 X 7 = 35]
Answer ALL the Questlons
a) How will you create a simple project, build and run appllcatrons in
VB? ’
[OR]

b) Compare and Contrast Subroutines and Functions with a simple coding.

- a) With a clear Example, explain the declaration of Strings and assrgnrng

values to Strmg variables in Vlsual Bas1c
[OR]
b) How will you create a logln dlalog box? Illustrate wrth a draoram by
specifying its propertres :

a) Give the syntax and a s1mple codmg for If. ......then statement to check

~

more than one condltlon at a time.
Sl (ORT
b) Write a note on any three math functlons in VB
a) How wrll you create a Interactlve msgbox in VB‘7
e |

b) Write a note on Prmt D1alog box wrth its propertres
a) How will you create a Prcture box in VB and hlghhght its 1mportant

properties? s
~ [OR] |
b) How will you create a Menu in the menu Edrtor and add Titles and

commands‘7 (Illustrate with diagram)

r Lght



SECTION-C ax10=30]
" Answer Any THREE Questions.
16. Define Scope of a variable. Elaborate the dlfferent types of scope and its
usage with variables. T bags j
17. Distinguish between Combo box and Listb/qx based on its function~ and
properties. v ) e A o
18. Write a Vlsual basic Program to 111ustrate
(1 FOR ....... NEXT Statement 9 ,
(i) SELECT .CASE Statement '

19 Write a note on the followmg
(i) Font Dlalog Box e l
(i) Color Dlalog Box : 29 g L
20. Explam the Flle Operatlons in V1sua1 Basic;f e

o
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END SEMESTER EXAMINATION NOVEMBER 2020

Programme: B.Com / B.Com(CA) ““"Date:26.12.2020

Course Code: 17UCOS51 / 17U0CCS51 | Time: 10 am to 1 pm

Course Title : International Trade Max Marks :75
'SECTION-A . [poxi=10}

Answer ALL the Questions.
Choose the Correet Answer : '

1. The exchange of goods and services are known as doirlen)

[a] domestlc trade ' - [b] mtematlonal trade
[c] tr,_adev Ly l' ~ [d] none of these
2. Which of the fOllowing is not considered as factors of production?
v [a] land - [b]/ l'abour [e] money [d] capital /'
‘3 Trade between two countries 1s known as. ___ trade.
[a] extemal o f‘ ~ [b]internal
[c] mter—reglonal - ; o [d] None of the above.

4. ‘Infant mdustry argument m 1nternat10na1 trade i is glven in supportof

[a] granting protectlon o
{b] free trade . N

[c] encouragement to export onented small and tmy industries

]

o~

[d] none of the above

i



5. Terms of trade that relate to the real ratio of international exchange between
commodities is called . i ;-

[a] real cost terms of trade [b] commodity terms of trade
[c] income terms of trade | [d] utility terms of trade

6. Terms of trade of developing countr{es are generally unfavorable

because ' I o

[a] they export primary goods [b] they itnport value added goods
[c] they export few goods [d] both (a) and (b)

7. The past two decades of globalizatton has seen rapid 'movements in <
'[a] goods, services and people between countries |
[b] goods servrces and mvestments between countrles
[c] goods 1nvestments and people between countrres
'[d] none of the above - '

8. Globahzatlon has led to hlgher standards of llvmg of |
[a] well-off ,consumers i . [b], poor consumers |
[c] big producers [d] small producers '

9. GATT was ntade invthey'ear»l; - i e
[al1945  [b]1947  [c]1950  [d] 1951

10. The new World Trade Orgamzatlon (WTO) whlch replaced the GATT

came into eﬂect from

[a] 17 January 1991 v[b]‘IAStJ‘anuary 1995
[c] 1* April 1994 ~ [d] 1" May 1995



SECTION -B [5S X 7=235]
Answer ALL the Questions.

11. a) What is the need for international trade ? Explain.
[OR] /
b) Distinguish between internal trade and international trude.
12. a) Briefly explain the objectives of free trade. '
[OR] |
b) Distinguish between free trade and protection trade.

13. a) What do you mean by dlsequlhbrlum in the balance of payments?

Explain.
[OR] |

b) Distinguish betweeu balunce of trade and balance of payment's'. ,

14. a) Briefly explain the objectiVes evf yliberal‘izatilon. :
L

b) Distinguish 'betwe.en’libefeliZation and privatization. '

15. a) Examine the Ob_]eCtIVCS of WTO.
, ‘ [OR]

b) Explam the structure of WTO

, SECTION C  [3X10=30]
Answer Any THREE Questlons :

16. Describe the nature of international Trade
17. Explain the advantages of free trade.

18. Describe briefly the various components of balance of payments.

e -



19. Explain the adyan.tages and disadvantages of Glgbali;aﬁgn. (. %

20. Describe the p_rihCip_les,of GATT.

4
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Programme :B.Com. (CA) ' Date: 20.01.2021 |
Course Code: 17CCCAS1 Time: 10 am to 1 pm
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| Employab;hty Skllls | G, e G e G |
SECTION-A [5X2710]
: Answer ALL the Questlons Ak
1. What is team Work‘? :
2. Explam commumcatlon skllls iy
3. What is percept10n‘7 LA
- 4. Define self development
5. What is lnterpersonal behavmur‘?
SECTION B [5X7= 35] \
\

Answer ALL the Questlons -

6. a) Explam employablllty skllls
, [0R]
b) Discuss why employablllty skills-are nnportant
7. a) Define importance of good commumcatlon.skllls. |
' | [OR]
b) Describes SMART. b5
iy



8. a) Explain the types of personality. -

OR]
b) Describe the factors inf‘fuencing perception.
9. a) What is stress? ' s
OR]

b) Summariee the causes of'stress.
10. a) Explain the benefits of transaefionai' analysis.
i [OR]
b) Define ego states. s

. SECTION-C LT [3X10=30]
, Answer Any THREE Questlons
11. Dlstmgulsh between hard skills and soft SklllS '

12. Explain ways todevelop tearhwork skllIS‘~ in _the workplace. o
13. What are the factors de’ter’mine‘ perSOﬁality?
14. How to build self confident?

15. Explain tranéacti'dnallan'avly's'i's.'7’ :

Sy
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END SEMESTER EXAMINATION - NOVEMBER 2020

Programme :B.A/B.Sc./B.Com/B.B.A. /B.CA. Date: 29.12.2020
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SECTION-A  [10X1=10]
Answer ALL the Questxons ‘ o

Choose the Correct Answer.

1. The most traditional word to refer our environment i§ -------=-=---

[a] Mother Nature . _ [b] Queen nature j
[c] King of forest - [d] Prince Nature _
FBMIFGIP60 THI@ID IMTHMSMWES GBSGD LUTFbUHWLTE QFTe) ——
[o1] Bubms smear  [o] Quibmes s
[8] sn@sefsr sigpFen [ 7] Qupms Gemeugse
2. The lowest layer of the atmosphere is e
702,[ [a] Ionosphere - [b] Thermosphere
[c] Troposphere ~ [d] Mesosphere
maﬂwasm_mg,ﬂsm &1 @4@5@ » : -
ng,\( [21] @wed weweod [<1] QeutiL wewiLsvid
[®] CCymCGumerdiwy [F] wWCWimerOwiy
3 Who developed ecological pyramid? |
[a] Odum [b] Haekal
[c] Charles Elton [d] A.C.Tensley
GHDIFEGWe0 UJblemL o heurdhalwen] wim?
[o1] gL (<] gy
(8] @ugemio  [F] eflwimum)
4. Energy -----eeme-- in an ecosystem. b
[a] is relased [b] is absorbed

[c] Flows i [d] is balanced

il




e R T T T S—

[o1] alGeléslLGEDES! [4] 2 PehFiLGEns:
(@] 968 na! [F] swlmeolGESns!

5. Which one is not an non conventional energy?
[a] Bio energy [b] Solar energy
[c] Tidal energy - [d] Petroleum

LereumeueTeummIeT 61%I LJLEFTT a;mmsu? -

[] 2 ulfl <ubmsd [o] &fw <ubosd -~
(@] omed Hmed  [7] GuiGymeSlund -

6. Power production from urban waste was first started in the followmg 01ty
[a] Delhi ~~[b]Kolkata P 25
[c] Mumbai - ; -[d] Chennal

Ueteumid 616&H m&ug@s\ﬂ@m@] (yag)am@g,sﬁlm) ;r,esu @Démuasaﬂeu @@r,r;@ '
et 2_BLSHS) Q&u_luJUULL@ g

[@] GLevel~ [al,] @asrrmaasg;g;n
[8] ey b 7 [FF] G\arsursmarr
7. s is known as “Jewels of the Eart E e -
[a] Mangrove forest [b] De01duous forest o
[c] Temprate rain forest [d] Grassland g
L oudledr | SUUIFEuID - :
[o] #ainpe asrrCBasm [at] @smsvw51U5rr®5m
[8] GeuLiLiDeuiTe 60 msmwesasrr@&.m [FF] usu@susrﬂas&rr@asen
8. The best example of pest1c1te pollutron i§ mmemmmmmem,
[a]DDT. o e [b] Endpm
[c] Endosulfan = - [d] Benmdmcg
W& gBUBSSID g&élas@esrrspaﬂas@ aﬁlm.r_r@ g_g,rrgsmw
fofl DDT: 7 o2 [&L] eleenLLITe
[8)] eieBLTFsOLITET . [FF] @usmeﬁsml_asr
9, ——=mm- number of mega dlversrty countrles is present in the world
[a19. 7 i i S [bl6 -
[c] 12 g C[d11s 5
2_605555161) o gitem SIBS UG\)gllujlﬂQLI@&E» gb'rr@essﬂ srg,g,msor"' 7t
(@112 7 e RS
10. The first biosphere reserve declared in Indla in 1986 i 1s
[a] Gir forest “[b] Nilgiris
[c] Palani hills [d] Agasthiyamalai -

;12-_




19860 (We&IWHded @bHwraled oipfieldsiu L 2 wly Gsmentd ér@? |

(o] &) sr@sen (4] Bovadf
(8] upsh [#] DiBerOBW oamev
SECTION - B . 5X7=35)
Answer ALL the Questions.

I'1.a) Briefly explain about Global warming, )
&) 208 Galuoworgesd ubl sEEsWLIE elloufl
[OR]
b) Give an account of cloud bursting.
<) Cwsbsuginy umm alleuif).

12. a) Explain the structural features of an ecosystem.
) SLBD WL 0SHe Simiotients ellu.
- [OR]
b) What is food chain? Give its importance.
) 2 _eweyFFRFled eTHImNey 6Teiten? BN (PSBSSIUSDS 61(1DHI%5.

13. a) Give an account of different types of coal and its important properties.
S) Pevss]l aUmEH6  BDID Sig6 UemTL|Semen - efleuif). =
- AORY: 2
b) Discuss the hydel power potential in India. 1
=) @bgwreler Fder o busSH Hmer il efeuf.

14. a) Give a brief note on non-renewable and renewable resources.

S UpLiSsmEW LG UHIITss Quer oubnsd uby fg GIEE
U &.

[OR]
b) Explain the mineral resources in India.
“4) DBHunelel Hrg cuenmismen alleuf.

I5. a) What is IUCN red list and explain different terms used in red list.

<) IUCN faiy uligusd umnl e11p&HIs. Goguid faly Ul iguedlsd
2_6Nen sammpibsemen efleurf).
| [OR]
b) Discuss the causes of extinction- of species.
<) 2 ulflen suflelimansn smyeomrismen 6leum )
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SECTION-C [3X10=30]
~ Answer Any THREE Questions. ‘ i

16. erte an essay on Ozone layer depletlon ‘ : .
@CFmeT UL s0LD e;lg@aﬂmasnsar a;rrusaorw @gﬂ_a:,@ ELBD] 1RSI

17. Give an account of ecological pyramlds _
G Lp6VlULI6y LiluLﬂ(Bas.m @@5@ &;I_(Beo)g' susmuas

18. Explain various non convent10nal energy sources :
DIy FmgT uBmed B efleurs). | ‘ —

19 Write an essay on air pollutlon and its control
STHHI WTSUTEH oBDID SIS BB HLGHSID (ynsn)massn u,rn,rﬁ\ (13 ¥

20. Discuss the need and approaches for conservatxon of blodlversny
umgnujlu(oNU@asasg,Qm (yaaaaﬂu.lg;@snw ag,smsmu urrglasrras@w (PEDMEB6IT
umgﬂ aﬂsmrgﬂ S o 4

\/ggm,(‘ed g «Flu,no{ C@S%Q.CE

. i ._n‘fwmal ‘ AQd:‘-Fio:o-m
-1 \slf\@;&aw

A

| (DR &QN\WWA—) J
e e e

N
CDV-J LBVBN yg) @ 9
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